### RESOLUTION NO. 36-97 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER <u>C. MARK KINGSEED</u> ON THE <u>21ST</u> DAY OF <u>APRIL</u>, 1997.

A RESOLUTION ACCEPTING THE BID SUBMITTED BY THE TdM CONSTRUCTION COMPANY FOR THE EAST FRANKLIN STREET ROAD WIDENING PROJECT IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the East Franklin Street road widening project in the City of Centerville according to specifications prepared by the City, and

WHEREAS, the TdM Construction Company was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by for the East Franklin Street road widening project, marked as exhibit "A" attached hereto and made a part hereof is hereby accepted in the amount of \$419,269.50 and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That the City Manager is hereby authorized to expend up to a total amount of \$442,000.00 in accordance with unit prices quoted in the bid submitted by the TdM Construction Company for any contingencies or overruns in quantities as a result of field adjustments.

Section 3. That this Resolution shall become effective at the earliest date allowed by law.

	alla D. Beals)
Mayor	r of the City of Centerville, Ohio
ATTEST:	$\langle f \rangle$
Clerk of Council, City of Centerville, Ohio	
Clerk of Council, City of Centerville, Ohio	
CERTIFIC	<u>CATE</u>
The undersigned, Clerk of the Council of certifies that the foregoing is a true and correct of	· · · · · · · · · · · · · · · · · · ·
passed by the Council of the City of Centerville APRIL , 1997.	
, 1997.	

PASSED this 2/57 day of APRIL , 1997.

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law Robert N. Farquhar Municipal Attorney

### BID SHEET 1 OF 5 REVISED APRIL 10, 1997

#### BIDDERS PROPOSAL

# EAST FRANKLIN STREET ROAD WIDENING PROJECT

Submi	tted by: Tom Construction Company, Two.
	(NAME OF CONTRACTOR)
Having	g read the specifications and examined the drawings included herein:
	East Franklin Street Road Widening Project City of Centerville, Ohio
unders	construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the igned hereby propose to furnish all materials and to perform all labor, as specified and described in the said ications and as shown in the Plans for the said work, for the following sums:
A.	STATEMENT BY ALL BIDDERS:
	The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.
	Addenda No Date 4/14/97
	Addenda No Date
B.	CONSTRUCTION COST INFORMATION (breakdown required) The bid shall be broken down as follows and the grand total shall be the sum of all items.

Item	Description	Quantity	Unit Cost	Total Cost
201	Clearing and Grubbing	1 LS	\$3,000,00	\$3,000.00
201	Trees/stumps removed, 18" size	24 EA	\$ 315.00	\$7,560.00
201	Trees/stumps removed, 30" size	3 Ea	\$ 450.00	\$1,350,00
201	Trees/stumps removed, 48" size	1 Ea	\$ 700.00	\$ 700,00

### BID SHEET 2 OF 5 REVISED APRIL 10, 1997

202	Drive approach removed	930 SY	\$ 12.00	\$11,160,00
202	Structure removed (catch basin	12 EA	\$	\$
	inlet)		100.00	1,200,00
202	Walk removed	4,150 SF	\$ 0,40	\$1,660,00
202	Traffic island removed	7 SY	\$ 10.00	\$ 70,00
202	Curb & gutter removed	1,950 LF	\$ 1.80	\$3510,00
202	Pipe removed, 24" & under	700 LF	\$ 6.00	\$4,200,00
202	Fence removed	40 LF	\$ 4.00	\$ 160.00
203	Subgrade compaction	5,000 Sy	\$ /,/0	\$5,500,00
203	Excavation not including	2,000 CY	\$	\$
	embankement		8.10	16,200,00
203	Embankment	460 CY	\$ 2.00	\$ 920,00
254	Pavement Planing, Bituminous	3,900 SY	\$ 2.80	\$ 10,920,00
301	Bituminous Aggregate Base	1,435 CY	\$ 64.00	\$91,840,00
301	Bituminous Aggregate Base*	100 CY	\$/00,00	\$10,000,00
403	Asphalt concrete	384 CY	\$ 61.00	\$23,424,00
404	Asphalt concrete	376 CY	\$ 61.00	\$ 22,936.00
452	8" Plain Concrete Pavement (Drive	970 SY	\$	\$
	approach)		36.00	34,920.00
603	12" Conduit, Type B, Class IV	632 LF	\$ 30.50	\$19,276,00
603	18" Conduit, Type B, Class IV	83 LF	\$ 47.00	\$ 3,901,00
603	21" Conduit, Type B, Class IV	152 LF	\$ 41.00	\$ (,,232.00
604	Catch basin, Type 2-2B	3 EA	\$ 510.00	\$ 1,530,00
604	Catch basin, Type 2-3	1 Ea	\$ 600.00	\$ 600,00
604	Catch basin, Type 3A	6 EA	\$1,200.00	\$ 7,200,00
604	Catch Basin, Type 3	3 EA	\$1,500,00	\$ 4,500.00
604	Catch Basin, Mont. County, Type B	4 EA	\$1,800.00	\$ 7,200,00
604	Manhole, Type 3	4 EA	\$1,200.00	\$ 4,800,00

## BID SHEET 3 OF 5 REVISED APRIL 10, 1997

604	Storm Manhole adjusted to grade	2 EA	\$ 300.00	\$ 600 00
604		7 EA	\$300,00	
<u> </u>	Sanitary Manhole adjusted to grade		\$300.00	\$2,100,00
604	Manhole reconstructed to grade	1 EA	\$500,00	\$ 500.00
605	4" Shallow pipe underdrain	3,910 LF	\$ 4.00	\$15,640,00
608	4" Concrete walk	5,450 SF	\$ 2.60	\$14,170,00
608	Special curb ramps, handicapped	330 SF	\$ 3,00	\$ 990,00
609	Curb, Type 6	3,910 LF	\$ 6.80	\$26,588,00
612	Concrete traffic island	62 SY	\$ 31.00	\$ 1,922,00
614	Maintenance of traffic	1 LS	\$8,000,00	\$9,000.00
623	Construction Layout Stakes	1 LS	\$ 8,000,00	\$ 8,000.00
630	Removal of ground mounted signs	4 EA	\$	\$
	and disp.		40.00	160.00
630	Removal of ground mounted signs	13 EA	\$	\$
·	and rel.		120.00	1,560,00
630	Signs (Flat sheet)	59 SF	\$ 18.00	\$1,002.00
630	Ground mounted supports, No. 2	90 LF	\$	\$
	posts		11.50	1,035,00
632	Loop Detector (Remove & replace)	1 EA	\$ 1,300.00	\$ 1,300,00
638	Fire Hydrant, extend and adjust to	2 EA	\$	\$
	grade		275.00	550.00
638	Valve box adjust to grade (water)	17 EA	\$ 100.00	\$ 1,700.00
638	Meter & chamber removed & reset	8 EA	\$	\$
	(water)		1,276.00	10,208,00
644	Centerline	0.74 MI	\$ 4,000,00	\$2,960,00
644	Edge line	0.04 MI	\$2,500.00	\$ 100,00
644	Transverse line	70 LF	\$ 6,00	\$ 420.00
644	Stop line	77 LF	\$ 5,00	\$ 385.00
644	Cross walk line	476 LF	\$ 2,20	\$ 1,047,20

### BID SHEET 4 OF 5 REVISED APRIL 10, 1997

644	Channelizing Line	650 LF	\$ 1,30	\$ 845,00
644	Lane Arrow	20 EA	\$ 80.00	\$1,600.00
644	Word on Pavement, 96"	6 Ea	\$100,00	\$ 600.00
644	Removal of pavement markings	1,450 LF	\$ 0.65	\$ 942,50
659	Seeding & mulching (659.09)	4,875 SY	\$ 1.20	\$5,850.00
Spec.	Connect to existing storm sewer	8 EA	\$300,00	\$2,400,00
			GRAND TOTAL	\$ 419,703,70
	CONTINGENCY QUANTITIES			
Item	Description	Quantity	Unit Cost	Total Cost
202	Special fill & cap off existing	10 LF	\$	\$
	conduit		75.00	750,00
203	Excavation not including	100 CY	\$	\$
	embankment		25.00	2,500,00
203	Embankment**	100 CY	\$20.00	\$2,000,00
203	Proof Rolling	5 HRS	\$ 200.00	\$1,000,00
207	Straw or hay bales	50 EA	\$ 4.00	\$ 200,00
207	Filter fabric Fence	1,200 LF	\$ 2.00	\$2,400,00
254	Patching Planed Surfaces	50 SY	\$ 30,00	\$1,500,00
304	Aggregate Base	80 CY	\$35,00	\$2,800,00
616	Calcium Chloride	2 Tons	\$ 800.00	\$1,600,00
616	Water	12 MG	\$ 40.00	\$ 480.00
Spec.	Curb Stops (Water)	4 EA	\$ 200.00	\$ 800.00
Spec.	Water Service, 3/4" copper	50 LF	\$ 18.00	\$ 900,00
Spec.	Water Service, 1" copper	50 LF	\$ 20,00	\$1,000.00
638	Tap fees 1", per Mont. County if necessary	I EA	\$ 95.00	\$ 95.00
*	Gutter replacement and Intersection widening			

#### BID SHEET 5 OF 5 REVISED APRIL 10, 1997

			2181 2000 4141		
**	Soft subgrade removal and replacement				
c.	COMPLETION DATE INFORMAT	ION			
	The bid price reflected above represents a and October 31, 1997 for all other associ proposed, it shall be specified hereafter.	ated work include		——————————————————————————————————————	
	ALTERNATE COMPLETION DATE				
D.	CONTRACT PREPARATION INFO	RMATION	•		
	The bidder shall supplement proposal by the Contract.	supplying the f	ollowing information	for use in the prepartation of	
	NAME OF COMPANY/CORPORATION	ON: Idm	Construc	+ion Co.Tu	
	NAME OF PRESIDENT: JOY	nes M	aurer		
	ADDRESS: 21 EAST Ri	dew	au Rocc	1	
	CITY, STATE, ZIP: Centeri	sille 10	no 45	5459	
	FEDERAL TAX I.D.#: 31-0951376				
	TELEPHONE #: <u>433-536</u>	5 FA	x#: <u>433</u> ~	8472	
	EXEC	UTION OF PRO	<u>OPOSAL</u>		
NOTE	E: Failure to sign proposal shall result in r	ejection of bid.			
	THIS PROPOSAL SUBMITTED BY:				
	Tdm C	onstro	ation C	0.11.00	
		(NAME O	F CONTRACTOR)		
	BY:				
	(SIGNATURE OF CON	TRACTOR OR	AUTHORIZED RE	PRESENTATIVE)	
	DATE: April 110,1	997			
	Contact person for Contract processing	Barr	y Potts	>	
	Mailing address if different from above:		-		
		•			

C:\ENG\BID\EFRANK97.WPD